EXPLODED VIEW & PARTS LIST: G246

BUILT-IN ELECTRIC GRIDDLE
MODEL PG246, G246 - HEATING ELEMENTS
208V, 240V and 480V

INSULATION PAD
2H-36051 (8 sf) (pk 2'x4’)

COVER, GREASE
DRAWER G7-31995

CLIP, INSULATION
: NUT, 1/4-20 HEX
G7-33474 (16 €a) 2C.31253 (64 63)

CLAMP, THERMO BULB
GRIDDLE G7-32028(12 ea)

TUBE, THERMO 24"
2A-31971 (4 ea)

&
(&)
g NUT, 10-32 HEX

= @/ 2C-35313 (36 ea)
‘
i JUMPER, SHORT

- i 2E-32054 (8 ea)

CLAMP, ELEM LF
7-32027
G7-320 CLAMP, ELEM END
G7-31969 (16 ea)
5
CLAMP, ELEM

N CLAMP, ELEM
PERIM G7-32025 L E o N G7-45254
(8 ea) - &'
. 2
s P2
o ,

GRIDDLE /
SHOWN INVERTED

(ref.)

CLAMP, ELEM RT

G7-32027 ELEMENT (8ea)

208V 2500W 2N-30513UL

\ 240V 2500W 2N-30520UL
480V 2500W 2N-48903UL
ELEM, PERIM
240V 1000W 2N-30507UL
480V 1000W 2N-31498UL

ELECTRIC GRIDDLE G-246 IL1914 PL111

HEATING ELEMENTS

20

111 p/n 2M-303340 OpManual Built-In Electric Griddles



111 p/n 2M-303340 OpManual Built-In Electric Griddles

EXPLODED VIEW & PARTS LIST: G246

BUILT-IN ELECTRIC GRIDDLE
MODEL PG246, G246 - CABINET & ELECTRICAL
208V, 240V and 480V

. SPLASH GUARD ASSY, G-24
S COMPLETE WS-20636

GRIDDLE PLATE ASSY
G7-G246-NPL-NGR, G246
G7-G246-PG24, PG246

SEALANT 5/15” x 160"
1P-33310
SLEEVING, 5/16” N
10-32040 (67 rl) (4 reqd) N
SHIELD, THERMO
2A-31974 (4 reqd) THERMO, CONTROL
2T-30257 (4 ea)

LIGHT, SIGNAL AMBER
208/240V 2J-30516

480v M3-wL0113 TERMINAL BLOCK
(4 reqd) 2E-31276
SCREW, 6-32x3/16 & BUSHING, HEYCO 7/8”

2K-31040 (2 ea)

2C-31718 (pk10, N

(p )\ ]
KNOB /® \ TAPE, CORK
2R-30259 (4 reqd) 1P-36178 (2" x 1'rl

4

BOTTOM, SHROUD
G7-32014

NUT, 8-32 KEPS
2C-31053 (2 ea)

SCREW, 8-32 x 2-1/2”
SHROUD, GREASE 2C-31734 (2 ea)
DRAWER WS-51989

Z
&

TRAY FRONT
G7-212047

HANDLE

2R-38668
GREASE DRAWER _
COMPLETE ASSY KNOB 2R-30259
We-00279 IL1915, Rev. C PL111

21





